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(2% Hourg)

N.B.: (1) An quest [ Total Marks : 75

: Ons ar
(2) Figureg to thee “Ompulsory,
qQuestion, .

I‘igh t i < :
Indicate full marks allotted to the

* Total * Prime
. * Production

(2) Order should be placed with

. \$
the supplier when t&e%wcntofy

touches )
) Max'
UG imum leyel * Re-order l'e:v«alc?)kY~
‘ P'Ium um level- . Danger leVQk\YN 3
\%0)

(3) Under.perpetual inventory system st@\cl? is ascertained
+ Periodically ' Co@xously

+ At the end of the year -Ne}e of the above
- &

(4) Labour Turnover is causéd;&?
o Low wages * Discharge
» Dissatisfaction v@{]o‘n « All of the above

| : &
(5) Idle fime is—O .

« Paid by %mployer. » Time wasted by workers
» Not pag&by employer  * All of the above

Xi . _
6) @ is not excluded while preparing a cost sheet.
‘ i oodwill': written off  ° Provision for taxation .
'§ Interest on capitél « Property tax on office building

&7 ) Total of Indired: materials, indirect labour and indirect expenses

(T g called g = t
\Zg- « Prime cost « Overhead cos
3\ » Chargeable cost :
/<(/ « Works cost ‘ [TURN OVER
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QP Code : 13857
,2 |
sting are more than actual

d in €0 erheads
ads recovere of ov .
(8) When overl.le od it i called as _.._.‘-——-:[_—c;n
overheads IncuIres « Over absorptl

« Under abSOI'Ption . None of the above
- Proper absorption :

e e . . : N\
€)) DOCIf charges 15 @ . Indirect cost _ CJO
Dem - produton o &
« Urge . ;

i i nts .
(10) Over valuation of closing stock i1 cost accou = Qz\
 Increases costing profit ¢ Decreases costing profit .

« Increases financial profit « Decreases financial profit ™

(b) State whemer the following statements are True or False. Gaﬁy seven)  ~

(1). In ABC analysis-*A’¢lass items are costliest. ¥~
(2) Economic Order Quantity can be Re-or,de@antity but not
vice-versa. |

®) ‘Overtime increases labour cost. g

(4) Preliminary expenses written off\\gcapear only in Financial
Accounts. : |

| A .
~(5) Primary Packaging Chargq%\%’ an example of selling and
distribution overheads. /\Y“ | ‘ :

: . \
(6) Over gbsorptxon of O‘&Heads increases Costing Profit,
(7) Fixed Cost per u@éem |

ains fixed irres ectiv
i e p tive of level of

Y~
&
&
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departments and T is g ‘p
servi > % N, R .
are as follows: C¢ department_ Theazd S are production 8 &
Ctual cost for a period : c,g}
Repairs «
Rent X ‘(zo
. 35,000 : éo
Deprec'mtxon 25.000 Q\\/
Supervision 42,000 O
Insurance 40,000 | 4§_
Light 16,000 /33"
Employer’s liability of . - 18,000
SOLIEY employees’ insurance 6,000 V}‘?
The following information i : | 2
departments : Ia on is also available in reSpecY%o the five
] Kl
e =
Particulars Producfion Departmea® \Scrvicej
/;\e:g) _| Dept.
B > v §| T
Area (Sq. ft.) 1,400 | 1 1,100 | 900| 400
No. of workers 250 | %00 100 100 50
Total Wages z |1,00,000 ~'\Y8'o,ooo 50,000 | 50,000 20,000
Value of plant < |2,00,008 1,80,000 |1,60,000 1,00,000 | 60,000
No. of light points 0 40 | 35 | - 30 25
Value of stock T L}-§6’OOO 1,00,000 50,000 | 20,000 -
Prepare a Statem ‘Nshowing Primary Distribution of Ov;rheads.
. i B 10 13 . weekl
(b) A Worker ced 200 units 10 2 week’s time, the gu@ted weekly T
; ed time to produce
6)§1 hours is 405. The expect P
wages pagnent for 45 ho e ot
-+ . aised further by 20 , under incentive
one 15 minutes which is 85 Hal
i : r hour of that worker under Fals€y
SC .Whatmllbctheeafmngpeh N
) sharing) and Rowas Bonus Schem
N | |
& ox
T { TURN OVER



(a) From the follpwin
the machine.

2.
450,000 (83(,

4,
50,000 O\\"
30,000 @)

&
2,000 N

Installation charges
Rent per quarter month) . &
the total ared (Per 6,000

General lighting for um) NS
- ¢ the machine (PF 277 60,000 é\
X

Insurance premium fo ) ‘
’ annuim \
Foreman’s Salary (Per o (Per annum) Lli&_,_ﬂ& |

: hin
. 1ated repairs for the mac .
Bstmetec 0o @ T 500 per 1, 000 units % i t
ars and the estlmqe value &

Power -2 units per hour 6 year
Estimated life of the machine is akhy
3712 life time. The

the end of the 10th year i
20,000 hour
The miscline § expecwdftt(;;:gtal area. The f@arx devotes 1/6th

machine occupies 1/4th o K
hine.
of his time for the mac calculat earnings of a worker "

llowing infermation,
@ 5;32 tﬂlllz t;;alsey gremmm Plan (50%\9? time saved) and Rowan
Premium Plan separately. Q)\'
Time taken to complete job. /\Y" 72 hours
Time allowed to complete JOQ_ 90 hours
Per hour rate of wages \g L®25
Dearness Allowance T 10 fev day of 8 hqurs’ work.

- 3. Following are the Purchas d Sales in the month of Dec. 2014. Prepare 15
the Stores Ledger on tngBasm of (i) FIFO and (ii) Weighted Average
(Perpetual) method. é

f Date (2014) @’fchases (Units) Rate (%) | Sales (Units)
1,200 4.00 -
- 600

600 3.80 -

- - 400 -
400 '4.20 _

- ~ ¥ 800
800 4.40 -

= = 600

[ TURN OVER
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QP Code : 13857

' Jeet, an employee '
@ Mr ployee of the ¢
and benefits : Ompany gets the following emoluments 8

C
&
— ¥

Basic wages
Dearness allowance

o
% 35,000 per month Q_Q'
&
Y-

‘ ’ et 100% of basi

Brip oyer y contribution to provident fund | 10% o (;bba'sm

Employer’s contribution to E. S. I \ 4o 002 A a:.s;c

Bonus ' , 1C

it - 15% of basic >
er allowances o * 42,500 pe @Y .

He works for 3,000hours per annum, out of which 600&51.11 s are
normal idle time. Mr. Jéetworked 30 effective hours job- ‘B’
where the cost of direct material is ¥ 50,000 and ovgratads are. 60%
of combined cost of material and labour. The sale v&\&' of job is quoted
to earn profit 25% on cost. )
You are required to find out Effective h@?ﬁ' cost of Mr. Jeet and
the Expected sales value of job- ‘B’ N
(b) A Company is having three production &’?Eﬁnents namely, A, B and 7
C and two service departments Sland@x g/€Xpenses incurred during .
the month of March 2013 are,ashgﬂbws:—

Expenses \?‘5' \ Amount (%) |
Supervision O " 31%’%%%
Fire Insurance 18,000
Power Y‘E‘ | | 6:000 |
Ligt & ., 10,000
- 17,000
8,500
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QP COde
6 for above departments : :
:1able O.
ing information isw—‘
lowing |
The follo | = 5 ) 6(
— &2 —550] 500 | 100 !
—1,500 | 1’0?0 10| 15 3 N
Floor space (34- ft-) 20 s | 2 , ™ - (JO
No. of workers 8 00 1,000 | 1,000 | Q.
H.P. of Machine 3,000 2,000 2’300 3,000 | 4,000 o
Direct Wages : 12,000 9,000 ’000 ] \S;’“
Value og :lanlt( - | 15,000 9,00;) 6, ) I %’\1
Value of Stoc 4 | ‘:e-
Light Points ,f——’ﬁjimﬁf&?rheads.\:
Prepare a Statement showing = the year ended 3&&:’1@1'0}1, 15
. . ve been extracted for te o. Ltd
4. Following parthUJafS ha . facturing c L
: M/S AShwln Manu ==
2015 from the bogks of , c.*" T
[ /N \23- 4,95,000
Purchase of Raw Materials QD 3,18,000
Direct wages /i::) & 93,(5)88
Office Salaries ) - 3,00
Carriage Inwards Q_Q ' 2,80,120
Carriage Outwards Q,& 16,00,000
Sales : : 00
Opening Stock — Raw Materials Q}’ _ ' 1’22’8 10
— Finished Goods (6,080 units) ’
— Work in Progressq§ ??’ggg
Travelling Expenses \z\Y" 30 000
Interest on Capital CJ > 9’ 200
Advertising ?
Income Tax ° e 95,000
Agent’s Commission.qz* 46,190
Plant Maintenance 37,500
Rent and Lighti /10th for Factory) 1,05,000
Rent Receive 5 ' 3,000
Rent of Warghduse 5,960
Sundry Exg 1ses — Factory 13.500
. — Office - 25,500
Build , epairs (1/10th for Office) 1’05:000
M: er’s Salary (For Factory T 12,000) 22.500
I&prcclation on — Plant 19’ 500
Ix — Factory Building ;
<P — Office Building 7,500
Y’S Sale of Scrap 9,000
\\' ) 4,500
HI-Con. 214215, [ TURN OVER
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¥ ,
Closing stock of Raw o QP Code : 13857
T 78,000. During the = aterials =

1,95,000 and Work-in-Progress

units remained car 1,50,000 units )
Prepare Cost shel»::lsmg . Were produced out of which 7,000
S and show the ¢,
per unit profit earneq, total and per unit cost and total profit and
4 FOIlOng is the s OR ‘
. Ummarised
Manufacturing Co. Ltd, for t: Profit & Loss Account of M/s Star
N P € year ended 31st Dec. 2014
rofit & 1.0 : "
For the ve ss Account i
_ year ended 31st Dec. 2014, ,{Z\YN
Particulars ) >
To Wages ' " Al Particulars \ : i\‘?
To Mateﬁals used 4 21,000 By Sales (12,000 units) VE»OOO
) 2,74,000 | By Cl.stock of Fini |
To Factory Ex y Cl.stock of FinishedQ.
0 Iy Epenges:’) 83,000  Goods (400 unigs%Y" 16,000
To Exp‘er.lses on ' By Closing stoclfz\&r :
AdminishzHon 1738240 Workin®fhress | 12,000
To Selling Expenses. 435,000 |'By 'Divid@ received 1,800
To Goodwill written off 2,000 K&
To Preliminary Expenses ; Q}(/(/ .
written off ; 4,000 /\\Y‘
To Net profit . 32,560 }
| 6,29,890 | [6,29,800]
Rk b
In the cost accounts : X~ o
(1) Factory expe%éizr:ave been allocated to the production at 20% on
| prime cost. : L -
(2) Expenses Q‘-}‘ hdministration at ¥ 3 per unit ptoduced.
(3) Sellingekpenses at ¥ 4 per unit sglc.
You are ?red to prepare Cost sheet of the company and rf:concile the
s ‘ counts and those shown by Financial accounts.
profits ﬁclosed by Cost ac ‘
N\ '
N
& | [ TURN OVER
S8 '
»f‘\ ,
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5. (a) State and expl
(b) Explain the AB

5. Write short notes on (8% t
(a) EconomiC Order
.. (b) Labour Turnover
(c) Cost Classification
(d) Abnormal Idle Time
(e) Purchase Order

A
('\, .
3 HI-Con. 2142-15
X | '
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